
Big Idea of the Day--Federal Budgets and Policy

I. The Federal Budget

     A. The federal budget is the annual statement of the federal government’s expenditures and tax revenues.

     B. Fiscal policy is the use of the federal budget to achieve macroeconomic objectives, such as full employment, sustained long-term economic growth, and price level stability.

     C. The Employment Act of 1946 committed the government to work toward “maximum employment, production, and purchasing power.”

     D. The president and Congress make fiscal policy.


1. In February, the president proposes a budget to Congress.


2. Congress eventually passes budget acts that are sent to the president for approval.


3. The president may approve or veto the budget acts.

     E. The proposed 2000 budget shows tax revenues, expenditures, and the surplus.


1. Tax revenues come from personal income taxes, social insurance taxes, corporate income taxes, and indirect taxes. 



a) The largest source is personal income taxes; social insurance taxes are the next largest. As a percent of GDP, tax revenues have varied from about 16 percent to about 21 percent; the largest drop was in 1982, and in recent years the ratio has risen slightly.


2. Expenditures are classified as transfer payments, purchases of goods and services, and debt interest.



a) Transfer payments are by far the largest expenditure. As a percentage of GDP, expenditures have ranged between 20 percent and 24 percent; they rose sharply between 1980 and 1983, and again in 1992, but they have been steady since then.


3. The federal government’s budget balance equals tax revenue minus expenditure. If revenue exceeds expenditure, there is a budget surplus; if it equals expenditure, there is a balanced budget; and if is less than expenditures, there is a budget deficit.

     F. The 2000 budget forecasts a surplus. As a fraction of GDP, over the last 20 years the deficit reached a peak of 5.3 percent in 1983. The fraction declined until in recent years the government has had a surplus. The U.S. surplus is rare; most nations have budget deficits.

     G. Government debt is the total amount of past borrowing that the government owes. It is the accumulation of all past deficits.


1. The debt to GDP ratio reached a high of 114 percent in 1945. It then generally fell until 1974. From 1974 to 1992 the ratio rose; it has fallen since 1992.


2. Total government debt is about $4 trillion.

II. Fiscal Policy and Aggregate Supply

     A. Supply-siders point out that fiscal policy also may affect incentives to produce.


1. An income tax decreases the quantity of labor and capital employed.


2. Because an income tax decreases the employment of labor and capital, an income tax decreases potential GDP.

     B. The supply-side effects mean that a decrease in the income tax increases potential GDP and so, in addition to shifting the AD curve rightward, the tax cut also shifts the aggregate supply curves rightward.


1. Supply-side economists think that the increase in aggregate supply is large so that GDP increases and the price level does not change.


2. Most economists believe that the increase in aggregate demand exceeds that in aggregate supply, so GDP increases and the price level rises, but by less than would be the case without the increase in aggregate supply.

